FOrReVER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE




"JU3s S30d Y3 U0 PaNIDW SI3QUINU 3Y3 03 Y2IDW J0U Op 3saY ] ‘AjUo 33ua1afaJ Jof 310 3[GD] SaXOg JO JUSIUO) dY} Ul SIdQUINU 1IDJ (330N

"AIen [[im

9 slamelq Anuend

paJ1apJo §| "KIeA ]I

g sapIS umoq p|o4 Amnuend

PaJapJo 4| “KIeA ||im

v sanjays do Anuend
m I . |
N l o |
| d - |

‘'ON Buimeaqg uondiiosag yile)

S3X04d 40 LNJLNOD

Pl 1

Eli’s Redwood Potting Bench
www. ForeverRedwood.com



*3z1s uo buipuadap Aipa [[Im aipmpioy 1noA Jo suoisuawiq :310N

*(sBa] ay3 01 SepIS UMOp P|oy 8Y) Yoene 0] )
SMa12S )29 .2

AN

C ol

*(sBa) ayr 01 dolsjger ayy yoene o)
siog .. % ¥ X ..9T/S

OO

[—

"(sBa ayy 03
sanjays dol ay1 pue Jjays Jamoj ayl yoene o)
siog .. % € X ..9T/S

‘ON

Buimeaqg

uondiiosag

1S1I13dvVMAUVH

P| 2

Eli’s Redwood Potting Bench
www.ForeverRedwood.com






Step 1: Use 5/16"" x 3 %" bolts (A) to attach the legs (1) to the lower shelf (2). Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

5/16"” X 3 %" Bolts

Step 2: Attach the tabletop (3) to the legs with 5/16"" x 4 %" bolts (B). Each part has a series of numbers that indicate where to
attach the part with the corresponding number.

5/16" X 4 ¥%"" Bolts

Pl 4

Eli’s Redwood Potting Bench
www. ForeverRedwood.com



Step 3: Use 5/16”" x 3 %" bolts (A) to attach the top shelves (4) to the legs. Each part has a series of numbers that indicate where
to attach the part with the corresponding number.

5/16” X 3% Bolts

Step 4: Attach the fold down sides (5) to the legs with 2°” deck screws (C). Each part has a series of numbers that indicate where
to attach the part with the corresponding number.

2" Deck Screws

P| 5
Eli’s Redwood Potting Bench
www. ForeverRedwood.com



Step 5: Finally, place the drawers (6).

Eli’s Redwood Potting Bench
www. ForeverRedwood.com

P| 6



This completes the Eli"s Redwood Potting Bench Assembly. Hope you enjoy your set for many decades. If you ever have a
problem or a question, don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P|7
Eli’s Redwood Potting Bench
www.ForeverRedwood.com



